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7306 

M. B. A. II Semester Examination, 2019 

PRODUCTION AND OPERATION MANAGEMENT  

 

Time: Three Hours 

Maximum Marks: 80 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj    50505050 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 40] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250250250250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 20] 

Answer any two questions (500 words each). 

All questions carry equal marks. 

    dksbZ nksnksnksnks    iz’uiz’uiz’uiz’u dhft,A izR;sd iz’u dk mŸkj 555500000000 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M [k.M [k.M [k.M & v& v& v& v 

Q.1 Answer all questions -  

 lHkh iz’uksa ds mÙkj nsa & 

 (a) What do you mean by production and operations management? 

  mRiknu vkSj lapkyu izca/ku ls vkidk D;k vfHkizk; gS\ 

 (b) What are the importance of production management? 

  mRiknu izca/ku ds egRo D;k gSa\ 

 (c) What is scheduling? 

  'ksM~;wfyax D;k gS\ 

 (d) What is line balancing? 

  ykbu cSysaflax D;k gS\ 

 (e) What do you mean by supply chain management? 

  vkiwfrZ Jà[kyk izca/ku ls vkidk D;k vfHkizk; gS\ 

 (f) What are the objectives of work study? 

  dk;Z v/;;u ds mÌs’; D;k gSa\ 

 (g) Write any two importance of purchasing and store management. 

  Ø; vkSj LVksj izca/ku ds dksbZ Hkh nks egRo fy[ksaA 

 (h) What is material handling?  

  lkexzh j[k&j[kko D;k gS\ 

 (i) Explain the Concept of Quality. 

  xq.koRrk vo/kkj.kk dks le>kb;sA 

 (j) What is six sigma? 

  Ng flXek D;k gS\ 
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PART – B @ @ @ @ [k.M [k.M [k.M [k.M & & & & cccc    

UNIT – I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 Explain nature and scope of Production and Operations Management. 

 mRiknu vkSj lapkyu izca/ku dh izdf̀r vkSj dk;Z{ks= dh O;k[;k dhft,A 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.3 Name different types of manufacturing system and their areas of application. 

 fofHkUu izdkj dh fuekZ.k iz.kkyh ds uke crkb, vkSj muds mi;ksx ds {ks=ksa dks crkbZ;sA 

UNIT – II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 What is plant location? Explain the factors which are responsible for plant location? 

 la;a= LFkku D;k gS\ mu dkjdksa dh O;k[;k djsa tks la;a= ds LFkku ds fy, ftEesnkj gSa\ 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.5 The precedence diagram for assembly activities A to G is shown below. The element 

times required for the activities are shown in the diagram in minutes. The line operates 

for 7 hours per day and an output of 550 units per day is desired. 

 (a) Calculate – 

  (i) The cycle times, and  

  (ii) The theoretical minimum number of work stations. 

 (b) Group the tasks into an appropriate number of work stations. 

 (c) Calculate the balance efficiency. 
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 tksM+us dh xfrfof/k;ksa dks A ls G rd iwoZorhZ fp= esa uhps fn[kk;k x;k gSA xfrfof/k;ksa ds fy, 

vko’;d rRo le; dks vkjs[k esa feuVksa esa fn[kk;k x;k gSA ykbu izfrfnu 7 ?kaVs pyrh gS vkSj izfr 

fnu 550 ;wfuV dk vkmViqV okafNr gSA 

 ¼a½ Kkr dhft;s & 

  ¼i½ pØ le;] vkSj  

  ¼ii½ dk;Z LVs’kuksa dh lS)kafrd U;wure la[;kA 

 ¼b½ dk;ksZa dks mfpr la[;k esa dk;Z LVs’kuksa esa lewfgr djsaA 

 ¼c½ cSysal n{krk dh x.kuk djsaA 

 

 

 

 

 

UNIT – III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 What is method study? State and explain in brief the steps involved in method study 

procedure. 

 fof/k v/;;u D;k gS\ le>kb;s vkSj fof/k v/;;u izfØ;k esa 'kkfey eq[; pj.kksa ds ckjs esa la{ksi esa 
crk,aA 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.7 Elemental timing (in minutes) for a four element cycle in a shop floor study are as 

follows –  

Cycle Time 1 2 3 4 5 Rating    

A 9 8 9 10 9 90 

B 12 11 12 11 12 110 

C 13 13 14 12 12 100 

D 7 6 6 8 7 120 

 Assuming total allowances at 15%, calculate : 

 (a) Standard time. 

 (b) Standard production per 8 hour shift.  

min 65.

A GF

E

D

CB

min 40.
min 30.

min 20.

min 45.

min 40. min 30.
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 ,d mRiknu v/;;u esa pkj rRo pØ ds fy, ekSfyd le; ¼feuV esa½ bl izdkj gSa &  

pØ le;pØ le;pØ le;pØ le; 1 2 3 4 5 jsfVaxjsfVaxjsfVaxjsfVax 

A 9 8 9 10 9 90 

B 12 11 12 11 12 110 

C 13 13 14 12 12 100 

D 7 6 6 8 7 120 

 

 15% dqy HkRrksa dks ekurs gq, x.kuk dhft;s& 

 ¼a½ ekud le; 

 ¼b½ ekud mRiknu izfr 8 ?kaVs dh f’k¶V esa    

UNIT – IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Write short note on (Any two) – 

 (a) Material Management  

 (b) Material Requirement Planning 

 (c) Economic Order Quantity 

 fdlh 2 ij laf{kIr fVIi.kh dhft;s & 

 ¼a½ lkexzh izca/ku  

 ¼b½ lkexzh vko’;drk ;kstuk  

 ¼c½ vkfFkZd vkns’k ek=k  
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OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.9 Calculate EOQ, total variable cost and total cost from the following information  

 Annual Demand – 25 Units 

 Unit Price – ` 2.50 

 Order Cost – ` 4 

 Storage Rate – 1% Per Year, Interest Rate – 12% Per Year and Obsolescence Rate – 7% 

Per Year  

 fuEufyf[kr lwpuk ls bZ vks D;w] dqy ifjorZuh; ykxr vkSj dqy ykxr dh x.kuk djsa& 

 okf"kZd ekax & 25 bdkbZ;k¡ 

 bdkbZ ewY; & `2-50 

 vkns’k ykxr & `4 

 laxzg.k nj & 1% izfr o"kZ] C;kt nj & 12% izfr o"kZ vkSj vizpyu nj & 7% izfr o"kZ  

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 What do you mean by Quality Control? What are the advantages of quality control? 

 xq.koÙkk fu;a=.k ls vkidk D;k vfHkizk; gS\ xq.koÙkk fu;a=.k ds D;k Qk;ns gSa\ 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.11 What is SQC? What are the differences between Variable Charts and Attribute Charts? 

 SQC D;k gS\ pj pkVZ vkSj xq.k pkVZ ds chp varj D;k gSa\ 
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PART – C @ @ @ @ [k.M [k.M [k.M [k.M & & & & llll 

Q.12 Describe briefly the kind of decisions a production manager has to take in long term and 

short term to manage his unit effectively. 

 ,d mRiknu izca/kd dks viuh bdkbZ dks izHkkoh <ax ls izcaf/kr djus ds fy, nh?kZdkfyd vkSj vYikof/k 

esa fy, x, fu.kZ;ksa ds izdkjksa dk la{ksi esa o.kZu djsaA 

Q.13 What is plant layout? Explain various types of plant layout. 

 la;a= izk:i D;k gS\ fofHkUu izdkj ds la;a= izk:iksa ds ckjs esa foLrkj ls crk,aA 

Q.14 What do you mean by supply chain management? Describe supply chain management 

model.  

 vkiwfrZ Jà[kyk izca/ku ls vkidk D;k vfHkizk; gS\ vkiwfrZ Jà[kyk izca/ku ekWMy dk o.kZu djsaA 

Q.15 (a) What is Inventory Control? What are the costs associated with Inventory 

Management? 

 (b) If Usage is 250 – 750 units, Reorder period is 4 to 6 weeks and ROQ is 2400 units, 

calculate ROL, Maximum and Minimum Level. 

 ¼a½ bUosaVjh daVªksy D;k gS\ bUosaVjh eSustesaV ls tqM+h ykxrsa D;k&D;k gaS\ 

 ¼b½ ;fn mi;ksx 250&750 bdkbZ gS] iquLFkkZiuk dh vof/k 4 ls 6 lIrkg gS vkSj vkj vks D;w 2400 

bdkb;k¡ gaS] rks vkj vks ,y] vf/kdre vkSj U;wure Lrj dh x.kuk dhft;sA 



 

 

[7306]  Page 8 of 8  

  

Q.16 In an initial study of a process, five samples were taken after every 30 minutes and the 

following data was recorded for analysis:  

Reading 

1 2 3 4 5 6 7 8 9 10 

65 80 70 80 85 65 55 45 55 60 

70 85 80 65 70 75 80 65 85 70 

65 80 90 65 70 70 80 85 90 60 

70 85 60 65 70 65 70 70 75 80 

70 80 70 75 85 75 65 55 75 70 

 

 The constants are as follows: A2 = .55, D3 = 0 and D4 = 2.114. 

 Draw the mean and range chart, plot the control limits on the chart and show whether 

the process is under control or not. 

  ,d izfØ;k ds izkjafHkd v/;;u esa] gj 30 feuV ds ckn ikap uewus fy, x, vkSj fo’ys"k.k ds fy, 

fuEufyf[kr vkadM+s ntZ fd, x, %   

jhfMaxjhfMaxjhfMaxjhfMax    

1 2 3 4 5 6 7 8 9 10 

65 80 70 80 85 65 55 45 55 60 

70 85 80 65 70 75 80 65 85 70 

65 80 90 65 70 70 80 85 90 60 

70 85 60 65 70 65 70 70 75 80 

70 80 70 75 85 75 65 55 75 70 

 
 fLFkjkad bl izdkj gaS% A2 = .55, D3 = 0 vkSj D4 = 2.114 

 ek/; pkVZ vkSj Js.kh pkVZ cukbZ;s] pkVZ ij fu;a=.k lhek,¡ IykWV djsa vkSj fn[kk,a fd izfØ;k fu;a=.k 

esa gS ;k ugha\ 

----------------------------------------- 


